Chapter-03
Population: Distribution, Density, Growth and
Composition

Important Questions Part-1

VERY SHORT ANSWER TYPE QUESTIONS
Q-1What is natural growth of population?
Ans. Natural growth is the difference between birth rate and death rate per 1000 persons.
Q 2. Which is the largest linguistic group of India?
Ans. Indo-Aryan
Q.3 In which activities the proportion of main workers is the highest in India?
Ans. Tertiary activities
Q-4 Which state has the highest proportion of urban population in India.?
Ans- Maharashtra
Q-5 Which is principal cause of female migration in India?

Ans- Marriage

SHORT ANSWER TYPE QUESTIONS
Q.1 State the four phases into which Indian demographic history is divided.

Ans. The Indian demographic history is divided into the following four phases:
1. Period of stagnant growth rate (before 1921)

2. Period of steady growth rate. (1921 — 1951)

3. Period of rapid growth rate. (1951 — 1981)

4. Period of declining growth rate (after 1981).

Q.2 Write three stages of population growth in India.



Ans. There are three stages of population growth in India.

1. 1901-1921: - When the growth rate was negligible because birth rates and death rates both
were high. High death rate was because of lack of medical facilities, epidemics and World
Wars.

2.1921- 1951: - Growth rate was moderate. Year 1921 is called the year of demographic
divide. After 1921 because of medical facilities death rate was brought down.

3. After 1951: - Population growth rate accelerated because of implementation of five-year
plans and increased medical facilities lead to the better standard of living, food security and

good health. So, death rate was controlled at a faster rate than the birth rate.
Q.3 Explain the causes of concentration of dense population in the Satluj-Ganga plains.

Ans. The cluster of Satluj-Ganga plains include plains of Uttar Pradesh, Bihar, West Bengal,
adjoining districts of Haryana, Punjab and Delhi. Here the density varies between 400 and
700 persons per sq. km. it is predominantly a rural tract except eastern and western
extremities where urban and industrial development in and around Kolkata and Delhi have
crated huge concentration of population. Agriculture is well developed in the upper Ganga
and Satluj plains. This is the traditional agricultural belt where density of population is
always high. The industrial and urban development in the post-independent period, has

superimposed extremely high densities in these plains.

LONG ANSWER TYPE QUESTIONS
Q.1 Why is the density of population increasing in every successive census?

Ans. The density of population is increasing in every successive census. In 1921, it was only
81 persons’s per sq. km.; it increased to 117 in 1951, 177 persons in 1971, 267 persons in 1991
and 324 persons in 2001. it is expected to be close to 400 persons by 2011.

Density increases with increase in population on a fixed land area. The population is
increasing in every successive census which is taken after every ten years. During 1921-51
the population increased steadily with the development in medical facilities which reduced
deaths caused by epidemics like plague, cholera and malaria.Deaths due to famines declined.
The agricultural economy showed improvement, crude death rates declined, but crude birth
rates remained high. During 1951-1981 death rates declined faster than the birth- rates. The

increase in population continued after 1981.



Q.2 How far the trend of birth and death rates in India has determined the growth of

population?

Ans. The difference between the natural birth-rate and natural death rate is called the
natural growth of population during 1921-51 the population increased steadily with the
development in medical facilities which reduced deaths caused by epidemics like plague,
cholera and malaria. Deaths due to famines declined because of development in means of
transport. The agricultural economy showed substantial improvement. Consequently, crude
death rates declined, but crude birth rate remained high it is called mortality induced
growth. During 1951-81 the population of India nearly doubled. This was due to
improvement in health facilities and living conditions of people. Death rates declined faster
han the birth rates. This it was fertility- induced growth. After 1981 the birth rates declined
rapidly. Declining trend of death rate continued but at a slower rate. The difference between
birth and death rates narrowed to 17. Thus, the rate of growth of population started

declining gradually.

Q.3 What is meant by the term index of population concentration? What are its

implications?

Ans. The index of population concentration is the proportion of India’s population living in a
state of Indian Union. For example, the index of concentration of U.P. is.

1660 Lakh = 1660 x 100 = 16.1%

10270 Lakh 10270

it means 16.1% population of India lives in U.P. Thus, itis ratio between the population of
state and total population of the country. The uneven nature of distribution of population
becomes more evident when we try to find out the index of concentration.

The index of population concentration is 16.1% for U.P. it is 0.15% for Nagaland, 0.22% for
Meghalaya and 0.11% for Arunachal Pradesh. The highly crowded state of West Bengal
accommodates 8.34% of the country’s population while that share of the agriculturally
developed states of Punjab and Haryana is 2.49 and 2.02% respectively. These are interesting

facts indeed.



Important Questions Part-2

Very Short Answer Questions
Q.1. What does the Theory of Demographic Transition tell us?

Ans. Demographic transition theory can be used to describe and predict the future

population of any area/country/world.

Q.2 What is the synthesis of Thomas Malthus. Theory (1793) of population?

Ans. The number of people would increase faster than the food supply.

Q.3 What is the product of cause and consequence of literacy?

Ans. The level of economic development.

Q.4 Research and developing ideas are put to which category of economic activities?

Ans. Quaternary activities.

Short Answer Questions
Q.5 Under what discrimination the sex ratio is bounced to be unfavorable to women?
Ans. (i) The practice female foeticide.
(ii) The practice female infanticide.
(iil) Domestic violence against women.

(iv) Lower socio economic status.

Long Answer Questions

Q.6 Below is drawn the age sex composition of India. Identify by the study of age



pyramid and answer the questions mentioned below to understand the demographic

transition of India.
1. In your opinion India belongs to which stage of demographic. Transition?

2. Explain the general characteristics of population of this stage?
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Ans. 1. India seems to reach second stage as is clear from the direct lines of the pyramid.

The characteristics of such pyramid are as under broad base shows the high birth rate and

increase in life expectancy.

2. (a) Broad base due to high birth rate.

(b) Decrease in infant mortility rate and death rate in general.

(c) Some increase in life expectancy.

(d) Percentage of child population is less but their number is more.

(e) Large population in future will reach in fertility period.
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